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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

The cakes ____ ready soon. They’ve been in the oven for an hour.
® can be
* must be
* mustn’t be
* need be
Correct Answer :-must be
2)
Question Stimulus :-

Fill in the blank with the correct option.

Children ______look after their parents in old age.
® can
* could
e ought to
* ought not to
Correct Answer :-ought to
3)
Question Stimulus :-

Fill in the blank with the correct option.

We locked the gate. Then the dog wouldn’t have got out.

e can have



* need not have
e ought to have

® could not have
Correct Answer :-ought to have
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

The President called on the wealthy countries
destroyed much of the country's agriculture.

.by

e for
Correct Answer :-for
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

financial aid after the floods

The crowd backed when the man pulled a knife.

* towards

e with

* away

e forward
Correct Answer :-away
6)
Question Stimulus :-

Fill in the blank with the correct preposition.



She backed out of the agreement_______ the last minute.
e at
e from
e for
° in
Correct Answer :-at
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

He sat me discuss the problem.

e beside, to

e besides, to

e with, for

e behind, to
Correct Answer :-beside, to
8)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* A idle brain

® is the

e devil's workshop.

®* No Error
Correct Answer :-A idle brain
9)

Question Stimulus :-



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* Nile is longer than

®* any other

® river in the world.

® No Error
Correct Answer :-Nile is longer than
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ He graduated

* with an second-class honors

e degree in physics.

®* No Error
Correct Answer :-with an second-class honors
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ Have there ever
e been a war
¢ in the United States?

e No Error

Correct Answer :-Have there ever

12)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Democratization have brought workers

® the right to strike

e and join a trade union.

® No Error
Correct Answer :-Democratization have brought workers
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® Unless Mohan takes
e proper care of his health,
* he will not recover.
® No Error
Correct Answer :-No Error
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ The bird would have
e died if you
* had caught it.

* No Error



Correct Answer :-No Error

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* My Parents and relatives will come to pick you
® as soon as
e you will reach Mumbai airport.
®* No Error
Correct Answer :-you will reach Mumbai airport.
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Nelson said, "I was playing cricket”.

* Nelson said that he had been playing cricket.

* Nelson said that he has been playing cricket.

* Nelson said that he have been playing cricket.

* Nelson said that he was playing cricket.
Correct Answer :-Nelson said that he had been playing cricket.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to his students, "Did you not like my story yesterday?”
* The teacher asked his students if they did not like his story yesterday.

* The teacher asked his students if they did not like his story the day before.



e The teacher asked his students if they had not liked his story the day before.

* The teacher asked his students if they have not liked his story the day before.

Correct Answer :-The teacher asked his students if they had not liked his story the
day before.

18)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Peter said "Alas! I have broken my brother’s watch”.

* He exclaimed sorrowfully that he has broken his brother’s watch.

e He exclaimed sorrowfully that he have broken his brother’s watch.

* He exclaimed sorrowfully that he had broken his brother’s watch.

* He exclaimed sorrowfully that he had broke his brother’s watch.
Correct Answer :-He exclaimed sorrowfully that he had broken his brother’s watch.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Are stories written by you?

* Do you write stories?

* Did you write stories?

e Have you written stories?

® Are stories being written by you?
Correct Answer :-Do you write stories?
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.



A cup of coffee was brought to me by her.

® She is bringing me a cup of coffee.

e She brings me a cup of coffee.

®* She brought me a cup of coffee.

e She was bringing me a cup of coffee.
Correct Answer :-She brought me a cup of coffee.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Grammar is taught to us by the teacher.
®* The teacher teaches us grammar.
®* The teacher is teaching us grammar.
®* The teacher has taught us grammar.
* The teacher taught us grammar.
Correct Answer :-The teacher teaches us grammar.
22)
Question Stimulus :-

Fill in the blank with the correct option.

We've been having problems with the new computer.
* a little
* little
® the little

e afew

Correct Answer :-a few

23)



Question Stimulus :-
Fill in the blank with the correct option.
Could you please pour milk in my cup?
o few
* afew
* little
* a little
Correct Answer :-a little
24)
Question Stimulus :-

Fill in the blank with the correct option.

The government has done or nothing to help the poorest people in this country.

* little

a little

the little
e few
Correct Answer :-little
25)
Question Stimulus :-

Fill in the blank with the correct option.

We have money, so we cannot pay for the farewell party.

e few
e the little
e a little

* little



Correct Answer :-little

26)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this nhew
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

What does the word ‘slaughter’ mean?
® Victory
® Return
e Killing
* Unity
Correct Answer :-Killing

27)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.



As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

What would be the most appropriate title of the passage?
®* The various forms of music and dance.
®* The outline of literature.
® History of civilization.

® None of the above.

Correct Answer :-The outline of literature.

28)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

Before the invention of writing, in what form literature existed?

* In stories and legends



e In Dancing and singing
e Inyells and prayers

® None of the above

Correct Answer :-In Dancing and singing

29)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient

people, there were only a very few individual who learned to write, and only a few
could read what was written.

What will be the synonym of the word ‘utilitarian’?
® Useless
e Useful
e Harmful
®* None of the above
Correct Answer :-Useful
30)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the following questions.



The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this nhew
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

What led to the invention of writing by man?
®* The need to record and communicate.
* The need to rejoice
® The desire to write more war songs

® None of the above

Correct Answer :-The need to record and communicate.

Topic:- Hindi
1)

Question Stimulus :-
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o TR frerait

o Sitad & forg wem g

o e fRiam

* ISR B g7 AT
Correct Answer :-sfiaq & T 9&W 991
2)

Question Stimulus :-
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Correct Answer :-814 ¥ $1f &1 & 7 7 21
3)

Question Stimulus :-

gmmﬁmmwmﬁ%&ﬂﬁagﬁwﬁuﬁﬁwmmm
|



=i ot fu Igxa | Rram & airdt g2

o PN U F1 & fw

e IS MRS 1 & forg

o Rifga s & forg

o Sifaq BT H&W I F forg
Correct Answer :-sffa &I & g1 & forg
4)

Question Stimulus :-
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Correct Answer :-gt & fRifé¢d &=

5)
Question Stimulus :-
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Correct Answer :-UAfdaR
6)

Question Stimulus :-
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TGYT BT Ygigar e 8-

o gt

o [T

o wf

* IHT
Correct Answer :-gat
7)

Question Stimulus :-
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Correct Answer :-8dl, 7HdT 3R &HdT 919 & g

8)

Question Stimulus :-
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|
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Correct Answer :-HHddl &I
9)

Question Stimulus :-

Fafafaa i @1 aFydes Teer 9@ A R T ggfaealt uxal § 9 fawer &1 997 B9

I gfa-t g ageT, 3 JH b §l
3O W=l 99T P oM a1 €,
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o=t e yww gt
o W§ gIEd BHd AeasTat
* §q AT 49 S
o W9 {dF HFGAT Bt YIS T g
e E YRl I IR
Correct Answer :-5d H11d 48 S0

10)

Question Stimulus :-

Frafafea sroam $ aFyde Tes U A g T sgfawad u=Al & Wt fieer &1 3u7 #3)

T U § 9T, 3@ qUY TP §
=Y 9= qqaT F a9 §

A O B &I F F 91 g,

T AIFd AHAT S g 919 ¢,

R S 8% R Y@ goed vad
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o IARR
o IAUTfat
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* AT
Correct Answer :-¥aydfa-t

11)

Question Stimulus :-



FUA HT YgTgardt g -
* UPHdl, WIW, &g
* g, 7Uw, fewiy
o T, WM, 5§
o Udhu, WIS, MR
Correct Answer :-U&dl, 9306, IS

12)

Question Stimulus :-

TR & ST PH-PH A T ?

o SRw-fady

* TiTgd1, 3ATehigd, St

o UgHH, fafa

o W9,y 3R Jgaa AT
Correct Answer :-3t0-fady

13)

Question Stimulus :-

Fafafea § & scadive 9™ 31 T3 SSERYT HIH-91 § ?
* A3
* T
o REMR
* TE
Correct Answer :-TR1&f

14)

Question Stimulus :-
1 faweal A fadi &1 999 T3 gu Raa == 9t gl Fifsrgl
~gar ora ot T ... o, TOOT A § SRR Pfor oft



o Sfifae
* 3[oed
* 3UHC
o e
Correct Answer :-3[&ad

15)
Question Stimulus :-

oiq fohell B Srcdid URINT & fQ IS 9T Tgd TET-TGTHR AT AIBHIAT BT IJrere B Pl WY qd
L[ AR AP BT B

o RSP
o yifqH=
Correct Answer :-3ifazaifad

16)

Question Stimulus :-

o dfdmal § $H-a1 SEeR 372

g WwRFT AfE AYR 7Y, 79 e afg s
et Feft € d JeA, M P g

e 3Fag
* EUP
o I
o IRifdT
Correct Answer ;-3

17)

Question Stimulus :-



o dfRal & P-wT g § 2
PN BIH! Y &Y, BT B! <Al
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o e
o ghiifae
Correct Answer :-gigl

18)

Question Stimulus :-

.................... B¢ & TP R H 16 AT Bl &1 98 THATHS B¢ g1 TuH 3R Ffg ol # g& qu= gan

o I
Correct Answer :-uTs

19)
Question Stimulus :-
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e I
Correct Answer :-diqd 39

20)

Question Stimulus :-

o 3fa
Correct Answer -1

21)
Question Stimulus :-
Haa® 1 & fba W 8 82
* TR
o dF
. d
° U™
Correct Answer :-g
22)
Question Stimulus :-
"W HIHTH F I 8-
* gadie
* FuRivaTG fedd
o ufsd gl yare fry
o T A TS TR



Correct Answer :-ufea giteT yarg Ay
23)
Question Stimulus :-
[ 1F BT 99 DIoTe-
e 0T g7 IUUNT IR 21
o IS} TST ITANT R B
o e m = 2
o A A A
Correct Answer :-398 ¥ $I5 T8l

24)

Question Stimulus :-

o fafaa 6 aroi=n & & wyw 9 siftw Ff¥a §, v 3t Shua w9 A FafRa i)
(1)- Mard w1 AT 8 P
(7)- BN T & I o Urell &
(X)- A ga gl ¢ fbg 370 @
()~ P Wi fawal | faza &
(9)- W $ JF1 & TP
(6)- TG & Wi T 1 TbdT g
® Y dd
®* ¥gdd
® gy d
e gqdXx
Correct Answer :-a3¥3qd

25)

Question Stimulus :-

A faf@a 6 areai=n # A uyw 9 3ifaw fAfda &, A =1 Sfaa wu & srafRE Fivm|



(1)- 3ifafy
(@)- Ffga ¥ e
(})- 9 HIS TYUT 5 B
()~ 3E 4T IRE F91 BT
(9)- Gy & gedt
(6)- fYare Iduyw Wi & YR= gair AT
® gvdd
e XIdYd
® dqYgTr
e gaddvx
Correct Answer ;X33 d@
26)
Question Stimulus :-
IS AT BT TG DIorg|
o WAFAI-HUTH H UTUT a1 aret
o RIP I & WPR A
* TF o & UGS AGHI Pt Tyon i 31
o TS e Tl
Correct Answer :-315 3f¢ T8

27)

Question Stimulus :-
“Supervision” &I ﬁ-‘a gy %—

o THID
o T
o fadq
o JfferspHor



Correct Answer :-gdagur

28)

Question Stimulus :-

e areie & foQ ue g 1 T4 i ?
“faerrera F sfRie™ @ aren”

o faRwy
* Tlad
* JAUSD
* JHTUD
Correct Answer :-Ui&®

29)

Question Stimulus :-

"3RG eg & g ariwr #1999 Sl
e Sy A Rz a8
o W UW F ARG
* S} 14T 7 ST ¥&
o T A T T
Correct Answer :-sit JH10T ¥ 15 1 8t

30)

Question Stimulus :-

v IR g UTW $RA a1 - I & oY U Weg 9|
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Correct Answer :-sgoild

31)

Question Stimulus :-

“gAR AfF g9 R ¥ 5 gg & ar oft 7 geRi § - a7
* HIYR arF
. g a
o iy g

T | PIg el

Correct Answer -0y a

32)

Question Stimulus :-
g JryRY ar & Ay a9 A gefe-
“ifdaRTell 1 gedt g1”

o g5 WfcRmment 8 SR S F Tewdt B
o Sl wfdaRIel gt ¢, Sl P werdt g
o JWRIE HI
* T A I TN
Correct Answer :-Sit ifeaammett gtar 8, S #1 Ferdt 31

33)

Question Stimulus :-

3MFTAf 7reg “3a” & Ted fApe BT TuT Hifore-
o TRl
* ISP
o Td!
e Bfa



Correct Answer :-gdl

34)

Question Stimulus :-

APl Treg “3ie” F WG fApey o1 T4 Hiforg-
. 48
o 3fard
o Jad
o T A P TR
Correct Answer :-¢3

35)

Question Stimulus :-

g 1 it g 6 3mal ugR T a7 aws! Jem d g @ §1 aaR A, US| 7T I BT AP,
Ul & TIY fId o7 &1 U T UPHfa &7 g a1 BT 3awR 7 uY-fiai| 3ae, 9e urem @t fKiar, v e &
fre o, s ok weTE TSt 9% Bd

SUY e TR BT HETUT Hiforg-

1 Siiad dt fagam & o forg fa-a o= w21

* FHIUA e 7 Il T HA FIgT ard
o g iy sua =EY foue Tga Yo
o IR f37 gEe T R fR sivsdR smma
Correct Answer :-391 SifaH d fagamn 8 o forg fea-va @+ us|

36)
Question Stimulus :-

TP UY F P BT Y 5-
* AT P HIAT
* R P AT 9 B, AT
* TP Y ATH

* TH AIY G UG UGUT HAT



Correct Answer :-T& I1Y & A4

37)

Question Stimulus :-

<ipifernT gl 8-
o o =y 3
o e urde Tupf ar
o UP Y

T A PIg T8

Correct Answer :-T& Ide 9wul arey

38)

Question Stimulus :-
“fuft & g NE-H Termar +f 7t gt 87 59 v ) ue Ui 8-

o TR foT A aie fbe AH w@
* 3TH & 3 Sl & g™
Ut SR a3

o E9d P faTd o1 WEr

Correct Answer :-gad &t fa-ids &1 GgRT

39)

Question Stimulus :-

“OT-3IB1” - & Hel 3d-Hg BT T4 Hifere-
* JIAG-ToR

. TRIAPETE
Correct Answer :-35% HISH-3Rdre!

40)



Question Stimulus :-
“M-FT G-gTH & Tt 3rd-g BT T Fifore-
o TER-yy
o ghsfew
. -H Ry
o Jwfu-tiaw
Correct Answer :-g®fi-ifidd

41)
Question Stimulus :-
ggamht § HH-91 TN 3-

¢ dYEY

o fam

* FHYRY

* §g
Correct Answer :-SHYRY
42)

Question Stimulus :-

Tid 39 1 A 1T =1 22

* Jle

Correct Answer :-fAdg

43)

Question Stimulus :-



"o ARIRR Fegd IURT, IR 3 98 URTI
fafaftr wifa a1 39 91, faga &= uare s A
SR Ui fre Bg T IgERvT 52

o e
* HRSI
o T
o grer
Correct Answer :-3urs

44)

Question Stimulus :-
<Rt wreg @1 Wiy =y ghm-

o TH+

o Ju+fY

o I+

o U+
Correct Answer :-3q+f

45)

Question Stimulus :-
Frafafad & @ S 1 2 o T &1 18 32
o gRfr
o fauras
* IwH
* 3ol
Correct Answer :-faurg®

46)

Question Stimulus :-



Correct Answer :-g<
47)
Question Stimulus :-
a5 W ugen & A g ¥ @
o @q arm
® Y arI
o HH I
o T E PR T
Correct Answer ;-3 a1

48)

Question Stimulus :-

i ool & ¥ oI a1y &1 99 Bifore-

e WIAH AT 8

o PR A 3T W= el Ia@E R W 99 Fpen
o IS HAfAA BT TH U FROT T @

o T Yot ®I ek g =y

Correct Answer :-RieR 7 39 TR Ml Ia8 1R IR 99 fAdar

49)

Question Stimulus :-

Ry fawga iR srurg, tw fHaifa &1

ITE” H ATYRU yH fhg W &) B2



o RiywT
o fovqa
* 3UE
o fowgd o ormE
Correct Answer :-fawqa 3iiv 3iuTe

50)

Question Stimulus :-

“3irat & Tdl S geraR &1 agt o §-
o TR BA T

THUST B
* 3@ 9 US ST
o TR St A
Correct Answer :-Tuug! g1

51)

Question Stimulus :-

“HH 9 7 & O_1 AgAE" didiad 1 det o 8-
* ¥ & HIY gPATYYl HAER HIAT
* WERGHI T Sl
o AT Affy IHR HIA
o Wl WX A faR diu=r
Correct Answer :-Sige& T TSl

52)

Question Stimulus :-

‘& quf fPad mia 3t 82

.]E’W



e oy guf
o e ol
o T
Correct Answer :-dgad quf

53)

Question Stimulus :-
‘o i At @l BT SR T #-
* 33y
* Hoy
* dd
* gwirsy
Correct Answer :-3isaq

54)

Question Stimulus :-

@ A AR Suaal § 7 9 B-
* 3MMER
* JAER
* U
o Jad i
Correct Answer :-3ad 9t

55)
Question Stimulus :-
‘wfegfd’ & S &-

ey

. uf



e W
e WX
Correct Answer :-ufd

56)

Question Stimulus :-
‘frarg § uea 8-

°*q

* 3

* &I

® PIY
Correct Answer :-3i1q

57)
Question Stimulus :-
Fa# @ 5w 3eg # "smar gy 8 82
o R
* derdr
o drar
® Yfrdl
Correct Answer :-drar

58)

Question Stimulus :-

o & @ 91 91 g Ifd arae G317 T8 22
® qar
o ASHI

(] 31?



o <
Correct Answer :-3A<

59)

Question Stimulus :-

W @ w5t g g9 R ford-

Correct Answer :-9fsar

60)
Question Stimulus :-
9 99 & Ig-gm & el srd-Ueg &1 Tue wifore-
SITEA- TR
® Ui-derdl
o mifia-gam
o gy-IHET
o gaA-HA
Correct Answer :-g3-3mHf3a
61)

Question Stimulus :-

R, SaTeR, Aiftre A g & @ o yafaard @2
o H
o giforar
o Edl

e Hfor



Correct Answer :-Hfo1

62)

Question Stimulus :-
ST T YITaar g-

o I

°* P

o I

* IH
Correct Answer :-3@-=r

63)

Question Stimulus :-

oo v &1 I B Naa wIF Hive-

* A
Correct Answer :-&@

64)

Question Stimulus :-

g & ¥ @19 91 e g Rudards T8 82
o HH-od
* FHI-UYR
o we-afi
¢ FHfeA-wRa



Correct Answer :-&g-3ifig

65)

Question Stimulus :-
e & ¥ aw gfe-

* TSR

* TP

o
Correct Answer :-Td

66)

Question Stimulus :-
9 & & 31 a1 3= aga 9 72
* WY
o dgr
* I
* e
Correct Answer :-Tag

67)

Question Stimulus :-

& yrwn Ft Aiferal & Ffferor & smyR W ST Fielt 3-
. i R
o ufyet &
o uEidl &
o IR
Correct Answer :-gdf f&

68)



Question Stimulus :-

ST fafy &1 faera gan @-
* Hiwgd
o It
e srEl
o HTILht
Correct Answer :-sTgit

69)

Question Stimulus :-

Correct Answer :-3a- R

70)

Question Stimulus :-

&S 3 JAuFe wu I ISHTT Ha Ni¥a fFar mare
* 575 1919
* 14 f{aweT 1949
¢ 14 fyawR 1939
e 11 RyawR 1949
Correct Answer :-14 @R 1949

Topic:- General Knowledge

1)

Question Stimulus :-



Bull baiting (Jallikattu) is a traditional game in / “q¢l afear (\_rlﬁﬂ'ﬂ‘)_g'@' ) e Pl Uh TRURS Q@d %:
e Kerala/&vd
e Andhra Pradesh / 3iS[uc=T
e Karnataka / $lc®
* Tamil Nadu / affa 15
Correct Answer :-Tamil Nadu / af8d 1§
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: / IEE-Eal

femg ok R faw U ISl A 4 IS IW BT I B

List-I List-1I
1. Jharkhand a. Kohima
2. Assam b. Bhubaneshwar
3. Odisha c. Dispur
4. Nagaland d. Ranchi
-1 gfa-11
1. IRGS a. SifgHT
2. 3FH b. YaiR
3. ISR c. fdagR
4. ATTIAS d. 3t

® 1-d, 2-¢c, 3-b, 4-a
® 1-d,2-c, 3-a, 4-b
e 1-c,2-d, 3-b, 4-a
® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a

3)

Question Stimulus :-



Which is the planet nearest to the sun? / ﬁff & Frpeaq o9 4O Ue?
® Venus /[P
o Jupiter / JfUex
® Mars / Hd
® Mercury /94
Correct Answer :-Mercury / §Y
4)
Question Stimulus :-

%Iow many members are there in the SAARC? / SAARC # U™l &1 H@&T fha giall
?

Correct Answer :-8

5)
Question Stimulus :-

In computers, Windows is a type of . [ PR ¥ fieid s uaR @1 gl

* Software / ATFCddR

* Hardware / FISAUX

* Both / G

® None of these / $T9 & I -Tel

Correct Answer :-Software / dTGcaaR

6)

Question Stimulus :-



Yeasts are classified as members of ____. / @R &I & el & w4 # qiiipd
far mar 31

® Fungi/ dddh

® Bacteria/ FﬁaTUj

® Virus /digxd

® Amoeba / 3ftaT
Correct Answer :-Fungi / $d®
7)

Question Stimulus :-

India’s first atomic reactor was ? / HRd DT UYH GIHIY] fRoaex Tl
® Zerlina / SIS
® Apsara / UHRT
® Kamini / SIA=T
® Dhruva/{d
Correct Answer :-Apsara/ 30331
8)
Question Stimulus :-

Thg best coking coal is mostly obtained from : / IGY 3BT HIHPRI Hradl HEd:
g5l ¥ U gl o

® Neyveli / o
® Raniganj / REIL]
® Singrauli / RTRieh
® Jharia / Elﬁ'CIT

Correct Answer :-Jharia / Ffar

9)

Question Stimulus :-



Which is the capital city of Uttar Pradesh? 3™R R Bt AU 82
® Jhansi / §IT\‘ﬂ
® Lucknow / TG
® Allahabad / SCigIdlq
® Kanpur / Y

Correct Answer :-Lucknow / TG13

10)
Question Stimulus :-

Krishna Raja Sagara dam is constructed on the river ./ T IR PR AR Y BT
forfor faear B

® Tunga /

e Kali / FTell

e Kaveri / P13t

e Sharavati / TRITd!

Correct Answer :-Kaveri / ®1a3

11)

Question Stimulus :-

Moti Masjid is situated in which of the following cities? / i<t 'Flﬁ}ﬂ? ﬁﬂ; =i | G| LIRS o fRa %?
e Indore /ga'\’
® Mathura / HYRT
® Agra/ 3RT
e Kochi/ i
Correct Answer :-Agra / 3R

12)

Question Stimulus :-



Pench National Park is located in which State of India? / Ud 7519 ST HRA &
fra = # fRa 32

® Uttar Pradesh / JTX USRT

® Madhya Pradesh / II%*ZT
® Chhattisgarh /fﬁﬁ?‘l’rﬁf

® Maharashtra / 'FIE'RTg

Correct Answer :-Madhya Pradesh / A0 U

13)
Question Stimulus :-

Find the odd one out. / 9 & ¥ faww g4I
e Andaman and Nicobar Islands / 3[USH 3R APER glu g
® Gujarat / J[oIRTd
® Pondicherry / qifg
e Chandigarh / d38NlTg
Correct Answer :-Gujarat / J[oIRTd

14)
Question Stimulus :-

Sri Lanka is called as 2/ sfteipT B CIRSIGI %?
e Pearl of the West / ‘Tf%l'q Cak: iG]

® Pearl of the East / YXd BT Tl

® Pearl of the North / 3<% T HIdl
e None of the above / SURITT PIg gl

Correct Answer :-Pearl of the East / Q3§ T Hidt

15)

Question Stimulus :-



Which of the following countries is called as 'Land of the Midnight Sun' / 379 ¥ fore <1 &Y “ds 3ME

frgHTge 7" PeT SiaT @
® Belgium | sfcsraw
® Germany / STH=T
® Norway /ATd
® Greece /JNT

Correct Answer :-Norway / ATd

16)

Question Stimulus :-

Laxmirani Majhi is associated with which sports? / ﬁmwmw &y gﬁﬁ %:?
Boxing / 'ﬂm'ﬁﬁ
Pole Vault / E}I"\q@'

Shooting / E{lléll
® Archery/ ?ﬁ?ﬂ'ﬁﬁ

Correct Answer :-Archery / FIRgToH

17)
Question Stimulus :-

is the first Indian Test Captain to score a double century in Cricket outside India /

Ugd R ¢& oW ¢, i1 HRd & 918’ fhdee & SIgxT Ide g1aT I
® Rohit Sharma /ﬁﬁa‘mﬁ
* Virat Kohli / faRTe ®igeit

® Cheteshwar Pujara / %ﬁ%\r YSIRT

® Rahul Dravid / JTgd STdS
Correct Answer :-Virat Kohli / faRTe SIgei

18)

Question Stimulus :-



Who won the women's doubles title at the 2015 Canada Open badminton tournament? / 2015 H-TST 3o

dsfife gafde #, fai=a saa Raare foeam Sitar ur
® Jwala Gutta and Saina Nehwal / SdTelT ST 3R GIERL ﬁm
® Jwala Gutta and Ashwini Ponnappa / SdT¢lT ST 3T SfyT g
® PV Sindhu and Saina Nehwal / W & f=y[ 3R 9131 Agara
® Saina Nehwal and Ashwini Ponnappa / TSl ﬁm 3R Srfy= e
Correct Answer :-Jwala Gutta and Ashwini Ponnappa / SdT<ll [gT 3R Sy e

19)
Question Stimulus :-

Who won Pro Kabaddi League 2016? / o ﬁ@ WRT 2016 fHaa S
® Jaipur Pink Panthers / STOYR fie st

® Patna Pirates / mm
® Telugu Titans / ?@] clgc

® Puneri Paltan / gﬁ'&tmz‘—r

Correct Answer :-pPatna Pirates / UCHI tnsi?;\ﬂr

20)
Question Stimulus :-

Sania Mirza ended her partnership with which tennis playerin 20167 / 37, 2016 ﬁ, aifear ﬁl\_rl'f 1 foa
e R & Ty e AEeR) @ B9 ?

® Angelique Kerber/f’,\_rlﬁlﬁf P

® Martina Hingis / H'IEF&IT%ﬁ'H

* Dominika Cibulkova / Siffifar®T ﬁ@ﬁﬁm

® Ekaterina Makarova /EﬁﬁTIT A diar
Correct Answer :-Martina Hingis / AT¢TAT @y

21)

Question Stimulus :-



The terms and describe upward and downward market _
trends in financial markets respectively. / I 3R R fo<dig IRl |
IR 3R Fe1d &I ugfa &1 9l Fd B

® Bear market, bull market / TR 'FIT%, qd HTfdhe
® Bear market, bird market / a'CR 'Fl'm, aé HAifde
® Bull market, bear market / §¢1 TIT%, IR AIfdhe
® Bird market, bull market / CE) 'FITHT, qd Aifdhe

Correct Answer :-Bull market, bear market / §¢ Arfde, o= HAIfdhe

22)
Question Stimulus :-

Which among the following is NOT a Credit Rating agency in India? / g ¥ Q@ 19 YRd & IUR-UTTT

fruRRor oot =6t 87
e ONICRA
e ICRA
e CRISIL
e SEBI

Correct Answer :-SEBI

23)
Question Stimulus :-

Who is the present CEO of Google? / TTd & qaur Higsi P 3?7
e Sundar Pichai / ger fU=mg
* Tim Cook / RU T
® Mark Zuckerberg / b BT
e Jan Koum / 99 P

Correct Answer :-Sundar Pichai / Jcz fag

24)

Question Stimulus :-



Which among the following States is the largest producer of tobacco in India? / frafafea Tsai g 9
P URA § TP ST a9 9T ISP 87?

® Guijarat / ToIRTd
e Andhra Pradesh / 3{T8{Ucs
° Pondicherryltl'i'%%ﬁ

® Madhya Pradesh / AT

Correct Answer :-Andhra Pradesh / 3y

25)
Question Stimulus :-

Which among the following country hosted the G-7 Summit in May, 2016//% WA S /A 1% ,2016 T
G-7 RRrer aweq smafora far

* England / EN S
® China /AT
* Russia / IRmAT
e Japan /SUMA

Correct Answer :-Japan / SITUT

26)
Question Stimulus :-

The theory of economic drain was propounded by / "S®HIU® 3" &7 RIgid 576
&1 ufaarfea fosar war o

® Madan Mohan Malaviya / Hg-1 Iﬁﬁ HTAd
® Surendranath Banerjee /Wﬂaﬂﬁﬁ:

* R.C.Dutt / IR g0

® Dadabhai Naoroji / STGT YT RISit

Correct Answer :-Dadabhai Naoroji / GTGT HT§ i

27)

Question Stimulus :-



Find the odd one out / fau® arar gfw
* Gulzarilal Nanda / [eeTRIdTd Aal
* V.P.Singh / 9.0 Rig
* L.K.Advani / Td.%. 3Sam1

e 1. K. Gujral / 38.% ToRTd

Correct Answer :-L. K. Advani / Td.%. 3Sa!

28)
Question Stimulus :-
Who played the role of Mahatma Gandhi in Richard Attenborough's famous
2b?:%pic ‘Gandhi’? / S TeAaR! @1 AxigR fvew it & wgren wieht &t Yfoer feaa Furg
* Ben Kingsley / 39 fwa
® Paresh Rawal / ORI I@a
* Dino Morea / &=t wifan
® Om Puri / 39 &
Correct Answer :-Ben Kingsley / 9+ fwa
29)
Question Stimulus :-

Who said the famous words "Arise! Awake! and stop not until the goal is

reached”? / "33, SN 3R 99 9P Ad TP o4 9P e @&d @1 Uit 7 81" d Ul W
fea ®8 2

* Raja Ram Mohun Roy/ ST IM HigH ™
® Dayanand Saraswati / GATG A&t
® Annie Besant / Tt 98¢
e Swami Vivekananda / aTHL ﬁaﬁ)‘lﬂ-_d
Correct Answer :-Swami Vivekananda / Tt ﬁﬁm

30)



Question Stimulus :-

Who was the first Indian women Lok Sabha speaker? / UHRd @I Ugd! wigan
AHTUT 3regel P A2

Sheila Dikshit / =itar feféa

Sushma Swaraj / JUHT &R

Meira Kumar / 'Fﬂ?TQ)‘FIT\’
Sumitra Mahajan / JfAaT "8

Correct Answer :-Meira Kumar / #RT $UR

31)
Question Stimulus :-

Indian who has won the Noble Prize in Physics / HRdId gl Hifas®t # T @R oftar 8
® Dr. Vikram Sarabhai / ST fa$p# IRIHTS
® Dr.J.C.Bose / ST 9.3\, 9
® Dr. C.V. Raman / ST A =
® None of the above / JURIGT PHIg gl
Correct Answer :-Dr. C.V. Raman / S1 Ul.dl. Y09
32)
Question Stimulus :-

Which of the following States was a Protectorate of India in the past? / fadAa
P AT Yd & YRA BT IAferd T AT ?

e Delhi/ feeet
e Punjab / USTd
® Pondicherry / qifg
o Sikkim / Rifeera
Correct Answer :-Sikkim / fifdsda

33)



Question Stimulus :-

The present Lok Sabhais  / TAHTT I FHT % _
e Thirteenth / m
¢ Fourteenth / iﬁﬂ?ﬁ
e Sixteenth / '\‘:ﬁﬂ?ﬁ
e Tenth / m
Correct Answer :-Sixteenth / Hicgal

34)

Question Stimulus :-

The idea of Fundamental Rights was adopted from / g ¥ 3 fPad wifers sifter &1 faer
STUATIT T 4T

e South Africa / T:{%I'UT 3ifthaT

® China/ CiC|

® America/ AT

e Pakistan / LHETSIGH
Correct Answer :-America / AR®T
35)

Question Stimulus :-

Who decides whether a bill is a ‘Money Bill’? / 3H®1 f~vfg &1 =1 8 f& fadus vs o= fadus 32
® The Speaker of Lok Sabha / TS FUT 3rTel
® The President of India / HIRd & Tl'gqﬁf
® The Prime Minister / WT-THAT
® Parliamentary Select Committee / W’cﬂ'ﬂ' "R giufa

Correct Answer :-The Speaker of Lok Sabha / @I® JHT 3¢H&

36)

Question Stimulus :-



Which of these was virtually forgotten until 1818, when General Taylor, a British officer, rediscovered it? / STd

fafesr sifiprt, T9 R SR, A ST Y Wit &1 R, 79 1818 TP 70 | fHA TIUT YaATIT ST b7 AT?
® Taj Mahal / ATSTHGH
® Sanchi/Trdl
* Nalanda / STTdiGT
o Uttar Pradesh / BT-RL‘I%EI[
Correct Answer :-Sanchi / 9Tt
37)

Question Stimulus :-

Who among the following was popular as ‘Punjab Kesari’ / g d @ #19 Uee $WY & TUH
b &2

e Lala Lajpat Rai / ¢TI <IToiUd XTA

e Subhas Chandra Bose / JHIY Tg CIE:|

® Yuvaraj Singh / ATl Rig

e Sardar Vallbhbhai Patel / GRGR deAHHTS Ucd
Correct Answer :-Lala Lajpat Rai / <ITdl WITSIUd 1A
38)

Question Stimulus :-

Who among the following has been called the 'Napoleon of India'? / fFufafaa # A 5 “URd &7
AR HET ST 82

e Samudragupta / Y[

e Harshavardhana / G'Q.HQIT-I

® Chandragupta Maurya / Wtﬁﬁ
® Ashoka / 3MPT

Correct Answer :-Samudragupta / G

39)

Question Stimulus :-



Which of these took the longest to build? / g4 ¥ fhaer Fwfor gad d9 qwg | gall?

® Taj Mahal / dTel Hgd

® Commonwealth Village / PIATA g

® Hawa Mahal /gdl Hgd

® Parliament House / §9¢ Ha"
Correct Answer :-Taj Mahal / A5 Hgd
40)

Question Stimulus :-

India's former Test cricketer Deepak Shodhan passed away on

IEUE] P gl
® 16 May, 2016 / 16 3, 2016
® 16 June, 2016 / 16 [, 2016
® 16 May, 2015 / 16 %, 2015
® 16 July, 2016 / 16 IS, 2016
Correct Answer :-16 May, 2016 / 16 HS, 2016

41)

Question Stimulus :-

./ YRAd & qd ¥ b U YT a1

Reserve Bank of India issued coins to commemorate the occasion of

Dr. B. R. Ambedkar 125 birth anniversary. / f §1.3R ras®R &t 1259 it &1
AR & IUds § YR f¥ed 9% A ¥ Rap 9 fpu B

® Rs5/5%UUu
e Rs 10/ 10 ¥¥4U
e Rs 100 / 100 4T

* Rs200/ 200 UY

Correct Answer :-Rs 10/ 10 ¥UT

42)

Question Stimulus :-



The Vedanga consists of the__ / A d 91 g %l
® Kalp, Shiksha, Nirukta, Vyakaran, Chhanda, Jyotish / U, 1T, fAead, sumevur, e, saifaw
® Kalp, Shiksha, Brahman, Vyakaran, Chhanda, Jyotish / ¢4, fRT&{T, STRIUI, TSI, B, Sifay
® Kalp, Shiksha, Nirukta, Aranyak, Chhanda, Jyotish / ¢4, ﬁT&‘IT, ﬁm, SRUYD, W, Safay
® Kalp, Upanishad, Nirukta, Vyakaran, Chhanda / &¢d, G'Clﬁ'q?:, ﬁm, HTHIT, G

Correct Answer :-Kalp, Shiksha, Nirukta, Vyakaran, Chhanda, Jyotish / @4, fRi&fT, fRead, same?un, ©¢, saifay

43)
Question Stimulus :-

Which among the following was the winner of IIFA Award 2016 for Best Film / fA9 uq P 3Py
fiFed [IFA REHR 2016  fastar <&t

® Bajirao Mastani / SOIRTG AT
e Tanu Weds Manu Returns / dq a?)'\q Hq e
® Bajrangi Bhaijaan / Tt uIge=
e Piku / Wi
Correct Answer :-Bajrangi Bhaijaan / SoIf} YIS

44)

Question Stimulus :-

Who is the first Indian woman to win an Olympic medal in Wrestling? /T&?ﬁ ¥ Ififie Asd sfia arelt ugat
YR Afgan 14 82

® Harwant Kaur /ETG"H ﬁq
® Sakshi Malik / T1&ft afere
® Lalita Babar / Qferar ameR
® Karnam Malleshwari/ $UIH AeaRa<t

Correct Answer :-Sakshi Malik / g1&fl #fere

45)

Question Stimulus :-



Who was appointed the Chief BREXIT Negotiator by the European Union? / E\ﬁﬁ'ﬂ? '*IERFI GRT Y81 sfdae
BREXIT) dai®R f$a fged faear mar?

® Tony Blair / T |/

® Angela Merkel / Eﬁ?ﬂ Ahd
® Boris Johnson / SR A=

® Michel Barnier / HIgdhdl IR

Correct Answer :-Michel Barnier / ATS®d affaR

46)
Question Stimulus :-

What is the theme for 2016 International Mother Earth Day? / 3fRTSra AT g2d} fdaw 2016 & frg fawy «=m 82
® Unite for tomorrow / 6 & ﬁﬂ'{ Thlc 3-17-|T
® Earth and its ecosystems / q?iﬁ 3R Sa@t uiRfRufast yomet
® Trees for the Earth /qvﬁ & fag q&l
® All of the above / JURTad |HT

Correct Answer :-Trees for the Earth / g2t & for@ gaf

47)

Question Stimulus :-

On which day is Kargil Vijay Diwas celebrated? / fou foa erfre fasa e w=man sman %?
e Jan 26 / SR 26

e June 26"/ S 26

e July 26th / G 26
« Sept 26" / RyawEv 26
Correct Answer :-July 26th / I8 26

48)

Question Stimulus :-



numbers of districts are there in Madhya Pradesh. / H&I m H foral &1 I=n %I
® 48
e 51
® 52
® 55
Correct Answer :-51
49)

Question Stimulus :-

‘Labour Day’ is celebrated on ./ HelgY fqag-mmmm - S TR ST 82
e 30t April /30 3M0@
o 1*May/1¥3g
o 15t May /153
o 15t June/1S[d
Correct Answer :-1%t May / 1 H§
50)

Question Stimulus :-

Who was accompanied by Dorji Lhatoo and Ang Dorji on a historical conquest? / ﬁﬁlﬂTﬁﬁ? Sid W SRl dig

3R ST SIXSht & /Ty FIF A1?
® Maharastra / 'FIF'RTg
® Andhra Pradesh / 3T 1,T%-'ZT
® Kerala /a’_{ﬁ
® Karnataka / FACPH

Correct Answer :-Maharastra / HgIRTY

51)
Question Stimulus :-

Which of the following number is divisible by 9? / fa d A o9 I T=m 9 | fursy %?



® 7899
* 1899
® 2089
® 3633
Correct Answer :-1899

52)

Question Stimulus :-

£l

p2q° r3/5_p2q5 r3 ¥ r3 o1 Tuie fafed

-]
Write the coefficient of r3 in ©

9
5

Correct Answer :- 5p2q°

53)
Question Stimulus :-

The value of this polynomial (-8m 2 +4m-8) + (4m2-m-7) whenm =9 is
/9 m=9 @ (-8m 2+ 4m - 8) + (4m 2 - m - 7) SgUS BT UM &

o 312
° 1312
o 321
° +321
Correct Answer :--312

54)

Question Stimulus :-



The mean weight of 6 lemons is 32 gm. One of the lemons is spoiled and was removed. The mean was reduced by
2. Find the weight of the lemon removed? / 6 Hg3ii T AT ao14 32 UMW 31 TP ig WG g T R Frvrar
& a1 w1em 2 | ve | e W g @1 a9 AR

® 30gm / 30 UH
® 36gm / 36 UH
® 38.5gm / 38.5 UH
® 42¢gm /429
Correct Answer :-42gm / 42 9H
55)
Question Stimulus :-
What is the supplement of 56 0/ 560 @1 JARD AT ?
o 340
e 56
o 304"
o 124°
Correct Answer :-124°
56)
Question Stimulus :-

One of the equal angles of an isosceles triangle is 802 Find its third angle. /

JUigag AYS & RIa HIvN & A TH B0 800 §1 FHDT AIRT DIV J1d Diord |
o 50
o 20"
e 60°
e 30
Correct Answer :-20"

57)

Question Stimulus :-



A parallelogram is represented by P (2, 6), Q (14, 6), R (20, 8) and S (8, 8). If the origin
is shifted to the pomt of intersection of its diagonals, then the coordinates of P is
JUHTR agys &1 P (2, 6), Q (14, 6), R (20, 8) 3R S (8, 8) A <uiur Ta1 §1 TS
ﬁgaﬁwﬂ?ﬁvﬁ%uﬁﬁa‘—rﬁgw o Rarwmar 8, 9 P & @i €

i

AT

* (-9-1

® (-2,-6)

* O

* (13,13)
Correct Answer :-(-9,-1)
58)

Question Stimulus :-

Area of a rectangular window is 420 sq ft. One half of the window has 1cm2 grill, while
the other half has 3 cmZgrill. Then the ratio of the number of grills in the window is

/ U TATPR [@e®! 1 &a%d 420 T Bie g1 fGs®! & e o) A & 13+
%ﬁaﬂawﬂ% wafe g omd R & 3 St o ot ol 21 o R & Rt e BT sguE

® 3:2
Correct Answer :-3:1

59)
Question Stimulus :-

If the perimeter of a room is 44 meter and the height of the walls is 12 feet, the area of the four walls is equal to

. / ¢ BaY 31 ufAT 44 i g 3R kAR Ft Sa€ 12 B €, IR Slari &1
PEL] P T 2l




® 2112sq:m / 2112 T Ht

® 56sq: m / 56 & HY

® 528sq:m / 528 aif Tt

® 264sq:m / 264 T T
Correct Answer :-528sq:m / 528 & t
60)

Question Stimulus :-

A fruit seller sells a dozen bananas at the rate of Rs.72/ dozen. If his loss is 4% what must have been his cost price? /

wgéﬁ?nﬁwwaﬁqﬁnﬁ/ o9 & X WR S9d1 21 afe IS B 4% ¢ ot TSI aNTd PIAd
1 ?

® Rs.75/ 75 %00

® Rs.76 / 76 U4

« Rs. 104 / 104 30

« Rs. 68 / 68 30U
Correct Answer :-Rs. 75 / 75 308
61)

Question Stimulus :-

SONAR makes use of / HHR SUPT SUTGNT HdT @

Ultrasonic waves / TRT¥H a3

Light waves / U®HTI a3

X rays / T favor
e Microwaves / & a3
Correct Answer :-Ultrasonic waves / W14 GRSl

62)

Question Stimulus :-



The electrical resistivity of the material of a conductor depends on / dIcidh 31 Il ot ﬁ?ﬁfﬁ ufoRiersar I W
R ot 8

e jts length / 3P THEE
* its area of cross section / 3U® U DI UR

® jts surface area / ISP 11'@11 EBW
® the nature of its material / It IR &t Wﬁf 'Y

Correct Answer :-the nature of its material / SH®! ARH $t UHfd W

63)
Question Stimulus :-

In the figure, the ray PO incident on mirror AB gets reflected along 0Q. When
the mirror is tilted by 10° to the position A'B’, the ray PO gets reflected along
0Q’. The angle 0 is / 3THfd #, gUur AB WR 3mufad fHur PO, 0Q & ATy WRTafdd i<t 81
rrrq'a’tf%mOﬁf@rﬁrA'B'wgwmm%,a‘rﬁmr PO, OQ’ & HIY Wrafdd g oIl g
BT 0

e 20°
Correct Answer :-20°
64)
Question Stimulus :-

Magnesium hydroxide, obtained when Magnesium oxide is dissolved in water is / AR aﬁ%mgs &

ot # g W uTe g AR grEsieass @
® Abase /TP &R



® An acid / TP 3T

® Anindicator / U AP
* Neutral / SGRIH

Correct Answer :-Abase /Ud &R

65)
Question Stimulus :-

The chemical name of quick lime (Chuna) is / @aRd ?ﬁ YT (?h‘rTI'\EITCIﬁﬁ | %
® Calcium Hydroxide / e E'IE@JWIEE
® Calcium Oxide/m 3[73'\‘1133
® Calcium Carbonate / SR SEFe
® Calcium Sulphate / FPfeRrw aebe
Correct Answer :-Calcium Oxide / BeRITH ar‘r'aws:c;
66)

Question Stimulus :-

A strong acid known as the “King of Chemicals” is / dg Udd 3+l S THIAA) BT ISP HeATar %

® Hydrochloric acid /E@ﬁﬁ? ST
e Sulphuric acid / FERIRS 3

* Nitric acid / AT3fe® o

® Phosphoric acid / IR 3

Correct Answer :-Sulphuric acid / FER[R® 3%

67)
Question Stimulus :-

How many strands is a normal DNA made of? / ITHI _éﬂ"l""l'({ o H'l]\?ﬁ d 41 glan %?
e 1

e 2



3

e 4
Correct Answer :-2
68)

Question Stimulus :-

Which structure stores food in a dicot seed? @I Ht/ I g 99 & WIS BT USR Bl 22

e Cotyledons / ®ifedisd

* Endosperm / YOIy
* Radicle / HAIHR
® Plumule /Wi

Correct Answer :-Cotyledons / ®ilcdlsd

69)
Question Stimulus :-

How many molecules of ATP can be produced in the cytoplasm by the break down of 10

:%egulesofglucose? / DiRIBIE ¥ Tt & fhae 3], P & 10 U & AU gRT 34T &
?

e 30
° 40
e 10
e 20
Correct Answer :-20

70)

Question Stimulus :-

Which is the Metabolic reaction involving Oxygen and Glucose? / E:F}I ¥ oA A Iu=rt ufaferar % forad
STRIeH 3R g Siafifed 82

® Photosynthesis / UPIRI W'EI'UT

® Krebs Cycle | 9 TP



® Gycolysis /mﬂﬁm

® Respiration / 94
Correct Answer :-Respiration / §349
71)

Question Stimulus :-

An ornament contains pure gold and copper in the ratio 1:9. What is the percentage of pure
gold in the ornament? / T 3TYJUT # Y[ T TA diaT 1:9 & JUd H g1 SMYYUT & e A BT
wfo=rd Fa1 82

e 11.1%

e 51.1%

e 33.1%

e 90.1%
Correct Answer :-11.1%
72)
Question Stimulus :-

The average salary of all employees in a factory is Rs 5000. The average salary of 12
engineers is Rs 7500 and the average of the rest is Rs 3500. What is the total nhumber of
employees in the factory? / & »REM & I+t FHIRG F 3iHFd 3T 5000 FUT g1 12 SifaR) &1
aﬁm\%rranoow%aﬁwwﬁeﬁﬁaﬁaﬁmm 6000 ¥UT 3| $REM & HHAIRG! B Fa1 G=AT
foaht 22

° 30
° 32
® 35
e 38
Correct Answer :-32

73)

Question Stimulus :-

The ratio of the ages of Suresh and Ramesh is 4 : 3. The sum of their ages is 21 years. The ratio of their ages after
6 years will be: / ¥R 3R THART DI 3T BT 3JUT 4 : 3 §1 STDI 3T T AT 21 T 31 6 TA TG IADL MY
BT 3AJUTd BI:



® 35

® 53

® 5:6

® 6:5
Correct Answer :-6:5
74)

Question Stimulus :-

The ages of Nelson and Michael are in the ratio of 3 : 5, after 9 years, the ratio of their ages will becomes 3 : 4, the
present age of Michael is: / TGI 3R ATSHA B 3T 3 : 5% JUTd H B, 9 T TG, SAB! 3T BT 4T 3 :
4 8 W@, IHATH ® ATgHd Bt A 7
e 12 years / 12 CL
e 15 years / 15 CL]
e 18 years / 18 af
e 20 years / 20 af
Correct Answer :-15 years / 15 CL]
75)
Question Stimulus :-
6/9th of 81 is / 81 F16/97 2:
e 38
e 54
e 64
* 7
Correct Answer :-54

76)

Question Stimulus :-



Five sixth of 600 is how much more than one fourth of 4002 / 600 T UTd BJT, 400 P TP WUTS A fopa=T sifie

87
e 300
® 400
® 500
® 600
Correct Answer :-400

77)

Question Stimulus :-

In a 10 kg ghee pack, 60% is pure ghee and 40% is vanaspati. If 10 kg of pure ghee is added, then the percentage
of vanaspati is / T 10 f¥al ft & U% H, 60% = HY T 40% T=ufa g1 afe 10 et gz &t et
T 8, 99 IR fa BT ufa=d §
® 15%
® 25%
® 20%
® 30%
Correct Answer :-20%
78)
Question Stimulus :-
Fill in the missing alphabets / W 3{&R ‘l-lﬁ'Q
__bbaa__bbb__a___
® b,a, aa
® ab,bb
® ab,ab
® b,a, b,a
Correct Answer :-b,a, a, a

79)



Question Stimulus :-

36% of 200 is / 200 BT 36% &:
° 7
° 82
o 98
° 68

Correct Answer :-72

80)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / ¥ IR udl # & &9 41 A {33 A ud & TheH A 8! 82

Western Carolina Paddlers
E-Mail: bell@unca.edu

PO Box 8541

Asheville, North Carolina 28814

(704) 258-8806

(i) Western Carolina Paddlers
E-Mail: bell@unca.edu
PO Box 8541
Asheville, North Carolina 28814

(704) 258-8806

(ii) Western Carolina Paddlers
E-Mail: bell@unca.edu
PO Box 8541

Ashaville, North Carolina 28814



(704) 258-8886

(iii) Western Carolina Paddlers
E-Mail: bell@unca.edu
PO Box 8541
Asheville, North Carolina 28814

(704) 258-8806

(iv) Western Carolina Paddlers
E-Mail: bell@unca.edu
PO Box 8541
Asheville, North Carolina 28814

(704) 258-8806

® i

® jv
Correct Answer :-ii
81)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one
given below? / 9 IR ydl # § &9 91 t& 14 {33 T ya & THeH GHH T8 82

Four Corners River Sports & Kayak School
PO Box 379

Durango, Colorado 81302

(800) 426-7637



(i)

(i)

(iii)

(iv)

ii

iii

iv

Four Corners River Sports & Kayak School
PO Box 379

Durango, Colorado 81302

(800) 426-7637

Four Corners River Sports & Kayak School
PO Box 379

Durango, Colorado 81302

(800) 426-7637

Four Corners River Sports & Kayak School
PO Box 379

Durango, Colorado 81802

(800) 426-7637

Four Corners River Sports & Kayak School
PO Box 379

Durango, Colorado 81302

(800) 426-7637

Correct Answer :-iii

82)

Question Stimulus :-



A train shuttles between stations A and B, and stops at 5 intermediate stations for 5 mins each. Assume that the
stations are at equal intervals of 10 km, and the train is moving at a speed of 50 kmph, how long will it take to

reach B? / U YOS XA A 3R B & i & gercil 8 a1 919 # 3 a1et 5 R W IS WISt s e &
g T dt 31 A ifoe B R 10 i & 9 3R W 3 & Yermst so fndl ufoger 9t wfa @ Tw W@ 7, A s
B d% UgaA | fora=r awa aame

* 85min /85 e

* 97 min/ 97 fiFIE

* 60 min / 60 ffTE

e 72 min/ 72 P E
Correct Answer :-97 min/ 97 e
83)

Question Stimulus :-

A person bought a motor bike at the cost of Rs.55000 after one year he sold it for Rs.44000. What is his loss

percentage?/wm%mﬁoooﬁmm@mﬁmml Waﬁ%umwﬁaﬁ?ﬂﬁmooo
H 99 fan 3ud Jeam &1 ufazra faar 82

e 10%

° 20%

* 25%

* 30 %
Correct Answer :-20 %
84)

Question Stimulus :-

Find the next term in the series 3,5,9,17,33, / SRadT H SRTAT UG JTd HIfeTT 3,5,9,17,33,
° 49
e 48
° 63
° 65

Correct Answer :-65



85)
Question Stimulus :-

Find out the wrong term / Tdd Uq ITd ﬁﬁrq

112,114,120,124,132,142,154
° 114
* 120
° 124
e 132
Correct Answer :-120
86)

Question Stimulus :-

In a certain language ‘lik lomb lyns’ means ‘that great poet’ and ‘vomb lomb
fomb’ means ‘god is great’. Then in that language the word ‘lomb’is used for: /
ot @ YT H ‘lik lomb lyns’ &1 Hd@d 8 ‘that great poet’ 3R ‘vomb lomb fomb’
$1 AdAd @ ‘god is great’| df 3 HIUT § e ‘lomb’ SHF forg YN BT 8:

® poet
® that
® god
® great
Correct Answer :-great

87)

Question Stimulus :-

In the sequence shown below, which figure comes next? /- feamd T w9 ¥ SRTet anqﬂ%r P9 ot giftz

oy I o 19 ol 19 o 19
o000 o000 L Jol ] L Jol
L XX ] 00 o000 el 1!

i i | i



CeO
L 2ol
00

Oe0

ool

00

OO

OO

olele
Oe0
L Iol |
090

Correct Answer :-

88)
Question Stimulus :-
Six individuals, A, B, C, D, E and F are in a park. B and D are the daughters of C’s father;

F is E’s sister; C is the only son of A’s uncle; and A and E are brothers. / 9% Fﬁ'lT,
AB,C, D, ERFIGFAGHATI BRD, C, 5 A akaid; F,EN 7@ §; ¢,
A P A BT SHAIAT 32T 8; 3R A 3R E WiE Tl
How is D related to A? / D, A 9 &3 Hafid 82
e Cousin / ilﬁ'\ﬁﬁl?:f
® Brother / HTS
* Son / §eI

® Uncle / 3i®d



Correct Answer :-Cousin / T3 g9

89)
Question Stimulus :-
An individual, S is the sister of M and T is M’s son. Another individual, R is a doctor
employed abroad. / T& fdd, S, M &1 581 § 3R T, M FT 3T 81 TH go
afa, R 3= & oriva siaes 21
Statement: S is the aunt of T. / BY: S, T B 3AicT &l
Is the above statement is correct? / HT $H U ATl YA '\"-l'(ﬂ %?
® Definitely true. / fafa =u J 9q1
® Definitely not true. / RIf3d v T I T

® Possible but not certain. / HHd dfe fAfda

® They are not blood relatives./ d @ & Hatl gl &1
Correct Answer :-Definitely true. / Af¥d 7 & "1
90)
Question Stimulus :-
A is the brother of B. B is the brother of C and C is the husband of D. C is the
father of P. How is D related to P? / A, B &1 HTS 81 B, C $T TS @ 3R C, D &1 Ufd g1
C, P &1 fUa1 81 D, P & &4 Wafld g2

® Daughter / 9¢l

* Daughter-in-law / 9§

® Mother / HTdT

® Sister / dg

Correct Answer :-Mother / {TdI

91)
Question Stimulus :-

Which of the following is the mirror image of COFFEE? / ffada I T COFFEE BT a'thT ufafars %"



EOCCEL
EVCEOE
OEEICE
COEEEE

COEEEE
Correct Answer :-

92)
Question Stimulus :-

In the following question the first word has certain relationship with the second
word. If the third word has to have the similar relationship with the fourth
word, the fourth word will be: / 79 U9 #, Ugd g BT g Vs & A1Y ot yvR &
PIE Gy g1 e TR e &1 1Y e & 1Y I PR T Yoy g1 A1RT, o AUT WS GHT:

Square : Four :: Decagon: ? / T[M : IR :: QYT = ?
* Six / 9%
® Eight / 3IS
® Ten / QU
* Twelve / 9IRG

Correct Answer :-Ten / ¢

93)

Question Stimulus :-
In how many different arrangements can S men and 5 women sit around a table so that no two women sit
together? / U AW & AU 5 T=U1 U 5 AAT3N &1 39 a8 A 961 F fore far g afgems ary = 83, fram R
UPR 1 TR P ST b ol 82

® 2880

e 2520

®* 5040

® None of these /Eﬁﬁﬂﬁgqﬁ



Correct Answer :-2880

94)
Question Stimulus :-

A man started walking towards the sunset. He walks for 5 km and turns right. He walks
for 3 km, then turns left and walks for 3 km, and then again turns left and walks for 3
km. Finally, he turns left, walks for 6 km and stops.

What is the distance between his starting and stopping point? / U 3TeHt q:qm P 3R 7@ el %I dg 5
fopeY =reran @ iR o gear 21 a8 3 e Ierar 8, e a1 gear ® 3k 3 foped) = §, ofk fped ardl
T g 3R 3 foel aear 81 of #, 98 918 g1 7, 6 fardt gaan g 3R Fwar g1 WRY 3R sifaw fig &
Fa 9 g 7 2

® 4km

® 2km

® 3km

® 1km
Correct Answer :-2 km
95)
Question Stimulus :-

CANCELLED

Bhaskar lives in a house that has the main door facing east. He moves out from the backside of his house and walks
straight for 50 m. He then turns right and walks 50 m again. Finally, he turns towards left and reaches a park after

walking 25 m. Find out in which direction is Bhaskar from the starting point. / HRRhI o WX ¥ Igar g foraw qB1
SR &1 4@ RT $1 3R 31 95 W 31 7D & R F a16¥ omar 3 3R 509! Hter e 31 f a8 & g 3
3R g: 504 Tear 81 3id ®, a8 IRt 3R g1 § 3R 254 g & §1¢ A A yggar 31 udT asd fb
TRY fig & YReR o9 A ez 4 g1

® north-east / 3WR-Rd

e north-west / IWR-Uf3H

® north-west / IWR-ufdH

e south / gf&or

Correct Answer :-north-west / SWR-Uf3H

96)

Question Stimulus :-



Select the statement, which is the logical equivalent to the given statement. / 9§ Y1 qﬁﬁ

St ad @1 =fRe | R T vy & guE 3:
“Jill is not a boy, and Jack is not a girl.” / “fNTd & @SHT1 T8 8, 3R S TP ASH! T8l g1”

° JiIIisnotaboyorJackisnotagirl./mwmqﬁ%maﬁ@ﬁw:I'Ea"f%l
° ItisnottruethatJiIIisaboyandJackisagirl./q_&’Wqﬁ%ﬁ?mwméﬁﬁ?aﬂiwmgl
o ItisnottruethatJilIisaboyorJackisagirI./ﬂ?'\‘lﬂqﬁ%ﬁ?mwm%maﬁwm%l

® None of these /ETN}I' I m &l

Correct Answer :-ltis not true that Jill is a boy or Jack is a girl. / U8 I Tl % o5 e TP dshl % T Wd
TP dSo! 3l

97)
Question Stimulus :-

Select the statement, which is the logical equivalent to the given statement. / 9§ &Y i[ﬁ'&
St ad @1 =fRe A R T vy & guH 3:

“It is not true that Jim is playing golf or Mary is playing tennis.” / “49g 9 T8l 8 f& o mMew
QT T § o1 A T Q| R

® Jim is not playing golf or Mary is playing tennis. / forg Mew qﬁ od el % T A3 ¢ @a ?ﬁ %I
® Jim is playing golf and Mary is not playing tennis. / fore iew @« el % 3R w¥ ¢ L) Qqdq LE | %I

® Iflimis no%t playing golf, then Mary is not playing tennis. / afe fora Mo T'Iﬁ o el %, ar ¥ ¢f qé’f
Q4 I8 7l

® Jim is%not playing golf and Mary is not playing tennis. / o Mew T'Iﬁ Qqd el % 3R A ¢ T'Iﬁ od
Tt 8l

Correct Answer :-Jim is not playing golf and Mary is not playing tennis. / forg rew 7'|'Eapf qd el % 3R AH
o 78 /w7 B

98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 fawe E[ﬁ'a
S & A BT O Freeut & TR A Wgt @

Statements: / ®YH:
Some threads are candles. / $© YT Al g1
All candles are guards. / G4 ARl @@ g1



Conclusions: / fAwpd:
I. Some threads are guards. / P9 YTy R Cca %I
II. All candles are threads. / I HiwfmEr urt g1

® Only conclusion I follows / W foressd 1 IECNGI %

® Only conclusion II follows | Fad ey 11 Feddar %

e Both conclusion I and II follows / s I 3R 11 SHY fAwad &

e None of the conclusion I and II follows / fFed 1 SR 11 & & ﬂﬁﬁ W 18 fArpaan %
Correct Answer :-Only conclusion I follows / Fad e 1 fRrperar @
99)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ fa&eu g
S i3 T YA ok el & ar § 9E @

Statements: / PY:
All novels are typists. / 94 U9 2rEfiRe 1
Some novels are not boxes. / TS IUUNT TR &I &l

Conclusions: / fAwpd:

I. Some typists are not boxes / P9 E‘IEﬁR T ﬂﬁ%l
I1. All boxes are typists. / I T cigfie g1

® Only conclusion I follows / Fad sy 1 FAeaar %

® Only conclusion II follows / Fad ey 11 Feddar %

e Both conclusion I and II follows / s I 3R 11 Y fAad &

® None of the conclusion I and IT follows / sy 1 Gﬁ'\’ naa ﬁ'ﬁ it q'eﬁ IECENGI %

Correct Answer :-Only conclusion I follows / Fad ey 1 Aeaar @

100)

Question Stimulus :-



Select the option that is true about the Statements and Conclusions given: / dg fawey ﬂﬁ'a

ot oA A Sy 3R fAewul & TR & I 8

Statements: / ®Y:

All trolleys are daughters. / I gﬁ'ﬁaﬁﬁ%l
Some windows are trolleys. / ¥ fasf&ar iferar 81

Conclusions: / fAwpd:
I. All windows are daughters. / 9} fasfear afear €1
II. Some daughters are windows. / 3 3fedl f@sfear g1

® Only conclusion I follows / Fada ey 1 fAreaar @

® Only conclusion II follows / Fad e 11 Aeadar g

e Both conclusion I and II follows / st I 3R 11 ST fAad &

® None of the conclusion I and II follows / s 1 SR 11 # & Eﬁ? W 18Y FRrparan %

Correct Answer :-Only conclusion II follows / %ad frswy 11 Fpaar 8



